Worksheet 10 Year 5 8.6.20

How do we use methods?

1.73294 + 18372 =

2.37281-10328 =

3.1273x6 =

4.4738 +3 =

5.372819 + 328741 =

6.473822 - 57381=

7.126x 15 =

8.7218 +6 =

9. Johnny travelled 12,427m by plane. Andrew travelled 6,632m by boat.
How much further did Johnny travel?

10. Sarah had 15,382 stamps in her collection. Her mum had 28,893 stamps.
How many stamps did they have altogether?

11. 6 friends share 2782 toys equally. How many toys will each friend get?

12. Last year, 12 people each paid £15 for a new book. How much did the
people pay in total?

USE THE SQUARED PAPER FOR YOUR WORKINGS OUT









